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Write your roll number in the space provided on the top of
this page.

This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
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(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
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booklet.
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the booklet with the information printed on the cover
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of 5 minutes. Afterwards, neither the Question Booklet
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After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: ) Q) @ (@ where (3)is the correctresponse.
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space allotted for the relevant entries, which may disclose
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using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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Note :

LINGUISTIC
PAPER - 11

This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

Language is a purely human and non-instinctive method of communicating ideas, emotions
and desires by means of a system of :

(1) Involuntarily produced vocal symbols

(2) Involuntarily produced non-vocal symbols
(3)  Voluntarily produced vocal symbols
(4) Voluntarily produced non-vocal symbols
2.  Assertion (I) : For words, a distinction is sometimes made between open-class words
and closed - class words.
Assertion (II) : Words may be classified as content words and function words.
Codes :
(1) Both (I) and (II) are true
(2)  (I) is true, but (II) is false
(3) () is false, but (II) is true
(4) Both (I) and (II) are false
3. Assertion (I) Formal universals are statements on the form of rules of grammar.
Assertion (II) : Substantive universals are elements in a grammar required for analysis
of linguistic data e.g. NP, VP etc.
Codes :
(1) Both (I) and (II) are false
(2)  Only (I) is true and (II) is false
(3)  Only (II) is true and (I) is false
(4) Both (I) and (II) are true
4.  In the sentence ‘John who is my friend is a fool’, ‘who’ is a :
(1) Question word (2) Reflexive pronoun
Reciprocal (4) Relative pronoun
HIHIIHIIIII M :
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5.  In the sentence “The foolish boy gave the girl an egg’, “The girl’ is :
(1) Subject (2) Direct object (3) Indirect object (4) Verb

6. Identify the grammatical role and relation of the underlined items in List - I and match them
in the List - II.

List - I List - II
(a) The boy hit the dog (i) Instrumental
(b) The key opened the door (i) Source
(c)  The boy felt happy (iii) Experiencer
(d) He took out the gun from the van (iv) Agent
Codes :

@@ (b) (9 (d)
1) @ 6 @ G
@ v O @) G
@) O @) Gv) i)
@) v @) @ 0

7. A term in phonology used to describe the loss of distinction between two phonemes in a
particular environments.

(1) Syncopation (2)  Assimilation (3) Metathesis (4) Neutralization

8. Match the items in List - I with those in List - II. Select the correct answer from the codes
given below :

List - I List - II
(a) Code (i) Metalingual function
(b) Message (ii) Phatic function
(c) Contact (iii) Poetic function
(d) Addresser (iv) Emotive function

Codes :
(@ () (¢ (@

® @ @ 3G (@)
(2)  (v) @) G @)

G @ () G ()
@ @ (v (D) ()

=

) iv)
vus [N
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5.  ‘The foolish boy gave the girl an egg’ T H ‘The girl’ T :
(1) =i 2) eI wH (3) o =wd (4) Toam
6. GOt - I H W@iford 7<) i SRR et R Hay = fogfta wifse iR =it - 11 o "1y gafad
TS |
it - 1 it - 11
(a) The boy hit the dog @ @
(b) The key opened the door (i) €@
(c)  The boy felt happy (iii) STIHTER
(d) He took out the gun from the van (iv) sTfyreRa
%<
(@ (b) (o) (d)
1 G @O @@ )
2 @) @ (@) (@)
G) @O G @v) ()
4) (v) (D) @) @)
7. @t fagm 8, fafire @it waiern § § @il & dew ifiersror & o« & S &1 gfshan 1 &el
Sl
(1) w=EarH (2) EHrRTu @) fawt= (4) fafdoeteRT
8. W -1 Hal I et - [1 3 Al & Tef GAferd iforg | = fau T 2 € &t S 1 =21 e
et -1 it - 11
(@) T (i) WY YwH
(b) Hew (i) ISR FehTd
(c) W (ili)y 1A FeTd
(d) g (iv) HomeHesh Yehtdl
< :
@@ () (o (d)
®m @O G G G)
(2)  (v) (D) @) ()
®) O <m> () ()
@) @@ (v) (@) (i)
ys [ HIHVALNAN ;




9.  Match the items in the List - I with those in List - IT :
List - I List - II
(a) Assimilation (i)  Articulatory phonetics
(b) Formant Analysis (ii) Auditory phonetics
(c) Pitch (iii) Acoustic phonetics
(d) Stricture types (iv) Combinatory phonetics
Codes :
@@ (b) (o) (d)
(1) Gv) (@) G @)
2 @ (v) (D) (i)
G @) @@ Gv) (i)
@ @) @@ @ ()
10. The concept of National syllabi was proposed by :
(1) D.A. Wilkins (2) D. Nunan
(3) Lydia White (4) S. Pit Corder
11. A term to donate the smallest sound units that can be segmented from the acoustic flow of
speech and which can function as a semantically distinctive unit is :
(1) Morpheme (2) Phoneme (3) Allophone (4) Styleme
12. A term used for referring to a sudden, short peak of acoustic energy which occurs in the
production of certain sounds is called :
(1) Foot (2) Formant (3) Burst (4) Filter
13. Complementary distribution describes :
(1) Allophones which occur in the same position without causing a change of meaning.
(2) Allophones which never occur in the same phonetic environment
(3)  Allophones which sometimes occur in different phonetic environments but always have
the same meaning.
(4) Allophones which are sometimes phones.
14. The association between the words ‘read’ (verb, past tense) and ‘red” (adjective) is termed
as :
Homophony (2) Homography (3) Hyponymy (4) Synonymy
HIHIIHIIIII (R :




9. el -1 7Ql I Gt - [ ! 731 o |19 GAferd HIg :
Tt - 1 T - 11
(a) EHIYEA (i) STEARUTCHE AT
(b) e (i) A EAfaIH
(c) AU (iii) =afTeR Ao
(d) T== (iv) IS AT
%<
(@ () (o ()
1 (v) @) G ()
2 @ (@v) (D) (i)
@) () @ (v) (i)
(4) () @) @ (@)
10. ‘' HReTAHS UISUHA | i Heheddl hl GITTad Tohal 74T o
1) <iu fafer ) . =
(3) fafea =me 4) TH. foe i
11. 9% VIS Sl STqH T TH1SAl Sl Sl dT o ATl Yo & Wied iR s1efa fades e T Terd!
%, FEAT € :
(1) wfm 2) w&fm (3) U (4) ey
12. A% o1l 1 SR, T R S Sfqqg @ & S=aru # Ye7 g, fefafea § 9@
FHEATT  ?
(1) U< (2) TE= (3) TERE 4) freR
13. T faqw ¥ frefafea § @ foeras seorg fran S 2
(1) ST%A, S e # gitedq fog fomm 36t feafq & S 2
(2) U, S SH Wi arareRer # wt oft TE e g
(3) U, S HH - FHF - ST TR AR H BT § AR STRT STef TR FHE B §
(4) STEH, S FH-FH @ B T
14. 95 ‘read’ (T, Y[dhTeT ) 3R ‘red’ (faRI90T) 1 Gee Teh Yo H el ST ©
(1) GHEAd (2) HHIGA  (3) STeAIHAl (4) T
psus T 7 Papec



15. The rhyme of a syllable consists of :
(1) Onset and coda (2) Onmnset and nucleus
(3) Nucleus and coda (4) Ouset, coda and Nucleus

16. The action of glottis determines :
(1) Articulation (2) Misarticulation

(3) Phonation (4) Vibration

17. Find the correct order :
(i) Foot
(i) Phone
(iii) Distinctive feature

(iv) Syllable

Codes :

1 Gv) @) @ @
2) @) @) @O ()
G) @ @) 3§ (iv)
4) (@) @ @) @O

18. Match the items in List - I with those in the List - II. Select the correct answer from the code
given below.

List - I List - II
(a) Isolating (i)  Eskimo
(b) Agglutinative (i) Turkish
(¢) Inflectional (iii) Chinese
(d) Incorporating (iv) Latin

Codes :
@ () () (d)

1 G @) Gv) @)
(2) @) @) @) @)
G) @ @) (@v) (i)
@ Gv) (@) @) @)

(o]

V) )
ps |
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15. SRR HT BT - Md ¥ Frafeafeg ¥ A FEA e 2
(1) 9RY IR q (2) URY AR Ty
(3) e 3R 3fd (4) 9RY, 31q iR fysw

16. Tolfeq st foran Ffyed =t ©

(3) TR (4) FA

17. @&l %d faefta s

(i <

i) T

(i) SATEdH ATTA
(iv) 38R

%<

D Gv) @) G @
(2 (@) @Gv) @ ()
G @ () 3§D ()
(4) () @) (@v) @

18. W=t - 1'% Al ! Gl - [ & Al § Gafad sitee | T U 7T e § 72t W =1 FHw |
T -1 T - 11

@@ () (9
1 @) () @)
(2) (D) @) ()
(3) (i) (iii) ( v)
(iif)
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Paper-11

19. The fusion of [d] and [j] to produce as [d,] is called :

(1) Distance Assimilation (2) Regressive Assimilation

(8) Progressive Assimilation (4) Coalescent Assimilation
20. A portmanteau morpheme is a morpheme which is used as :

(1) A morpheme which has one meaning

(2) A morpheme which has more than one meaning

(3) A morpheme which has no meaning

(4) A morpheme which has bound meaning only
21. Meaningful unity of words in a linguistic utterance is :

(1) Cohesion (2) Coherence (3) Context (4) Connotation
22.  Which of the following is not true of the Aspects model ?

(I) Meaning is contained in the surface structure

(2) Deep structure goes to surface structure through transformations

(3) Transformations include addition, deletion, movement and substitution

(4) Base provides input to Deep structure
23. Case is a property which is associated with of a sentence.

(1) Verb (2) Noun (3) Adjective (4) Adverb
24. Linguistic competence refers to :

(I) The capacity to use language in all social situations

(2) The capacity to find mistakes

(3) The capacity to understand all verbal and non-verbal signs

(4) The capacity to produce and understand an infinite number of sentences
25. The sentence-clause distinction in generative terms is found in :

(1) Optimality theory (2) Minimalist theory

Hyphothesis theory (4) Principles and parametre theory

H||\||H||||||H||!|H\|| I 1




19.

20.

21.

22.

23.

24.

25.

[d,] & &9 H 30 0 & faw [d] iR [j] &1 wfmsor wgemm €
(1) SHaia gHiveA (2) uTE HHI9EA
(3) Y gHrHEd (4) GerRht gHtyad

TF Hyad wum T wfu § fSae i frefated 8 @ f5e % w9 9 fem S e
(1) T wfm g s oed €

(2) TH w9 f5os uF @ ifusw oref €
() TH wfum g & A &
4) T wm g FHaa o5 9d §

et miftres o1k & W1 1 1eRTd Tehal 1 Heardl © 2
(1) §EsH (2) wufd (3) TET (4) <&

frefafea 4 @ & “ Aspects model” gfaeq & AqUd el © ?
(1) 37ef ST S H B B

(2) AR HEEA WA & HEAH | e A1 | S g

(3) e ¥ ufiaeH, faa, Tee iR yfaeemes afmfad g 2|

(4) f7om R stafes S & fow armeE 1 gfd & 7

HRE Teh LI 01§, S a1 & T HIG T

1) fwa (2) Eam @) foomwo  (4)  forefaeivm

TS &7 1 Haid |

(1) |t gt feafai 9 - 9= 1 e
2

3
(4

) TATEl Rl TEETA T &l
) Hifgs iR TR Aifas fo@i %1 Txer &1 ama
)

AT T § 9T k! oM o THSH i &9

frfafed o foad goe gr&d § a1 - Iuare #1 Sd e § 2
(1) 329 k1 THgT (2) =T w1 fEg
(3) TR H Tagr @) fifgua-wd - W fagia
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26. In the sentence ‘John himself cut the apple, ‘himself’ is :
(1) Reflexive (2) Relative Pronoun
(3) Verb (4) Emphatic
27. Match the items from List - I with those in List - IT and select the correct code from the codes
given below.
List - I List - II
(a) Gradable antonyms (i) alive - dead
(b) Complementary antonyms (ii) good - bad
(c) Converse antonyms (iii) Furniture - desk
(d) Hyponyms (iv) lend - borrow
Codes :
(@ (b) (o) (d)
O O @ @) @
@ G O @) ()
@) (v) @) @) @)
@) G @) 0O @
28. In the metalingual function :
(1) Focus is on “message for its own sake’
(2) The addressee is directly engaged
(3) The addresser is engaged
(4) Language is used to discuss itself
29. Match the items from List - I with those in List - IT and choose the correct response from the
codes below :
List - I List - II
(a) Referential function (i)  Corresponds to the factor of context and describes a
situation, object or mental state.
(b) Expressive function (ii) Relates to addresser
() Conative function (iii) Focuses on ‘message for its own sake’
(d) Poetic function (iv) engages the addressee
Codes :
(@ (b) (o) (d)
® @ @ 3§) (@)
2 @ @ Gv) ()
() @) @@ @) ()
4 (@(v) @) @) (i)
yous 1NN 2




26.

27.

28.

29.

(4)
yas |

$9 91 ‘John himself cut the apple’ # ‘Himself’ &
(1) frsErEs (2) HayaTEH HEAH
(3) fwa (4) AU

eI - 11 A 1 Gl - 11 61 e & gafaa st ok = U fou %2 ¥ 9 s &1 529 Fife |
Tl - 11

) Ufdt geae w9 @ o ®
(3) UuF T ¥
(4) TS T TAN 36 R == & & Q. fowan w2

Gt - [ 1 7S &1 Gt - 11 &1 71 9 gafaa sifse ok = fu TU e § 9 S &1 =

HIFTT
el - 1 Tl - 11
(a) HevTd g () Hed & 9@ ¥ "G @M AR fRer fufq, axg stuan
Tl 1 0 T

(b) WEEIHE YR (i) Yk 9§ Hafyd
(c) Torarm® g (it) e HSW T hf=d HE
(d) HEATHE THE (iv) Ofeet &1 Hed &
< :

(@ () (9 (d)
®H @ @) 3§D ()
2 @ (@) @v) (i)
G) G (@@ 3D ()

Gv) () (i) (i)

1l 1
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30.

31.

32.

33.

yaus ]

Which of the following is an example of polar opposition
(1) Tenant - Landlord

(2) Wet - Dry

(3) Teacher - Student
(4) Alive Dead

Assertion (I) : There are some South Asian languages that show ‘Ergativity” in full - scale
as articulated by W.R. Dixon.

Assertion (II) : Some languages such as Hindi-Urdu, Marathi, Nepali and Punjabi etc. are
classified as “Split-ergative’” languages because Ergativity is conditioned by
tense and aspect in these languages.

Code :

(1) Only (I) is true

(2) Both (I) and (II) are true
(3) Both (I) and (II) are false
(4) Only (II) is true

Assertion (I) : One of the most salient properties of verb final languages is that most of
them have post-positions.

Assertion (II) : Persian is a verb - final language and it has pre-positions.
Codes :

(1) Only (I) is true and (II) is false

(2) Both (I) and (IT) are false

(3) Both (I) and (II) are true

(4)  Only (II) is true and (I) is false

When extant written records do not exist to offer forms representing an earlier non - extant
state of a language, it is possible to hypothesize about the historical development of the
languages by analysing the structural regularities and irregularities of their contemporary
states and deducing underlying forms which might reflect earlier states. The process is
called :

(1) Lexicostatistics (2) Internal Reconstruction

(3) Comparative method (4) Lexical diffusion
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30.

31.

32.

33.

freafafaa § @ =0 - @1 gt fokiy &1 e 2

(1) femER - HEHH Aifdw
(2) e -

() JA=mE - foEnef
(4) Sffea - @

JURT (I) : T <faror T wome Tt § fod s’ qot °F # gag), 3R, feaRm & o1 {uR
RIS ICIES

e (1) : & - 3, 7, Turedt oiR dSimelt onfe SiEft o wwiedi & ‘ faged-wqgar’ 9 &
w9 B afieha fohan ST ], SRAifeR a5 el | #rer IR vt gRI Wi
fopan ST |

Faa (I) 9&l T
(1) 3R (1) S T
(1) 3R (1) <1 7Tera & |
Faet (II) &l T

afere™ (I) :  foran o amwisti 1w yq@ fomivar § fo 57 & 9 aiferemis & it 2@ ©1
AR (1) :  FRET T fohan e o © o 399 STl e €

(1) e (1) 9t 2 R (I1) 7Tera B
) (1) 3R (1) < TTerd €
3) (1) 3R (1) SH T2 ¥ |
) e (I1) ¥l ¢ SR (1) Terd B

fordit s =t forera staen &1 faRo &4 o fau S@ g=ia fafea sifyera stqaersy & af «ff Tt
qrored o SdHH WEY 9 e fid Gaacds Hafiadreti qen stfrafbdareti & faveryor gry wet e
& Ufqerfas fasm #i STaamoen y&qd &3 G9d 8, 96 g ST YTl Tedl 1 SAThad o T |

(1) I FifeTHht (2) TR TR
(3) qerras: fafy (4) RN S foreRon
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34. A process of regularization which affects the exceptional forms in the grammar of language
is referred to as :
(1) Loan blend (2) Merger (3) Coalescence (4) Analogy
35. The claim that sound change is a regular process has long been sufficiently well - linked to :
(1) Ferdinand de Saussure (2) Yaska
(3) Prague school (4) The Neogrammarians
36. Assertion (I) : When we find some languages which are clearly connected through a
genetic relationship it therefore follows that they belong to a language family.
Assertion (II) : All these languages are descended from a single ancestral language.
Codes :
(1) () is true but (II) is false
(2) (I) is false but (II) is true
(3) Both (I) and (II) is true
(4) Both (I) and (II) are false
37. A sound change in which a repeated sequence of sounds is simplified to a single occurrence
is known as :
(1) Paragoge (2) Prothesis
(3) Anaptyxis (4) Haplology
38. A sound change in which sounds exchange positions with one another within a word is
known as :
(1) Compensatory lengthening (2) Paragoge
(3) Metathesis (4) Aphaeresis
39. Assertion (I) : Synchronic linguistics refers to study of language across time.
Assertion (II) : Diachronic linguistics refers to study of language at a particular time.
Codes :
(1) Both (I) and (II) are true
(2) (I is true and (II) is false
(3)  (II) is true and (I) are false
(4) Both (I) and (II) are false
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40. Assertion (I) : Human language would presumably function much better as a medium of
communication if it did not change over time.

Assertion (II) : Apparently language change is universal.

(1) (I)is true, (II) is false

(2) (I) is false, (IT) is true

(3) Both (I) and (II) are true

(4) Both (I) and (IT) are false

41. refers to a general model of grammar within which all individual varieties can
be interrelated, thus providing a model of a speaker’s passive competence.

(1) Paralanguage

(2) Panlectal

(3) Diffusion

(4) Diglossia

42. Assertion (I) : A cloze test involves presenting learners with a complete passage, at the
end of which descriptive questions are asked.
Assertion (II) : Cloze tests have proven useful in second language classrooms as well as in
psycholinguistics as tests of comprehension, and in sociolinguistics as a means
of eliciting dialect words.
Codes :
(1) Both (I) and (II) are true
(2) Both (I) and (II) are false
(3)  (I) is true and (II) is false
(4) (I) is false and (II) is true
43. The concept of ‘communicative competence’ in sociolinguistics is a contribution of :

(1) William Labov (2) Lev Vygotsky  (3) Dell Hymes (4) Charles Ferguson
44. Acquisition vs learning distinction is attributed to :

(1) S. Pit Corder (2) S.D. Krashen (3) W.S. Allen (4) Halliday
45. Gazetteers and Biographical Dictionaries are classified as :

(1) Onomasiological Dictionaries

(2) Onomastic Dictionaries

(3) Dialect Dictionaries

Learner’s Dictionaries
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46. Assertion (I) : Creoloid is a form of Creole arising out of mixing of features from two or
more source languages but without a history of origin in a Pidgin language.
Assertion (II) : Afrikaans, and Singaporean English are both examples of Creoloids.
Codes :
(1) () and (II) are both true.
(2) (I) and (II) are both false.
(3) (I) is false, (II) is true.
(4) () is true, (II) is false.
47. CALL (Computer - assisted language learning) refers to the area of technology and second
language teaching and it claims to have achieved.
(i)  Judge predetermined right or wrong answer.
(i) Provides immediate feed back
(iii) Provides output even for unexpected input
(iv) Provides motivation and engagement of human interaction
Code :
(1) Only (i) is false
(2) Only (iii) and (iv) are false
(3) Only (i) and (ii) are false
(4) All the above are false
48. Assertion (I) : More important than learning one mode of pronunciation is acquiring the
ability to style - shift.
Assertion (II) : Style - shifting is the ability to alter the register of speech.
Codes :
(1) (I) is false and (II) is true
(2) (I) is true and (II) is false
(3) Both (I) and (II) are true
(4) Both (I) and (II) are false
49. An approach to language teaching that focuses on language functions and communicative
competence is called :
(1) Linguistic approach (2) Communicative functional approach
Functional notional approach (4) Bilingual approach
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50. Match the items in List - I with List - IT and select the correct answer from the codes given

below :
List -1
a

)
b) Diglossia

Verbal Deficit Hypothesis

( (
( (
(c)  Social Motivation of Sound change (ii
( (

d) Communicative competence

Codes :
(@) (b) (o)
@ G @ @)
2 @ () (i)
G) @) () (i)
) (v) @) @
vsus TR

(d)
(iii)
(iv)
(i)
(iii)
-00o0-
22

List - II

Charles Ferguson
Basil Bevnskin
Dell Hymes
William Labov

Paper-11
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